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3amanue 1
A — (P * Q) - R = (omnpexeneHue oepariy HMIUTHKALNN) =
= j + (P * Q) » R = (3axoH gpoiiroro otpuranmst) = A+ (P * Q) > R =
= (ompeneneHue onepauy UMILTHKAIIMHN) = A+(P*Q)+R=
= (3akoH jie Moprana) = A * (P * Q) + R = (3axon e Moprana) =

=A* (ﬁ + a) +R= (3aKOH AUCTPUOYTUBHOCTH) = AxP+Ax 5 +R

3ajanne 2

P+ (Q - Z) = (ompeaeieHue onepanui UMIUTHKALIAN) =

=P+(Q+A)=P+Q+A4

3aganue 3

(A = a) — (P + Q) = (omnpenenenue onepanuy UMIUIUKALUK) =

= (A * 5) + (P + Q) = (3akoH ae Moprana) = (Z + 6) +P+Q)=

= (3aKoH gBoiiHoro orpuuanmsi) = A + Q + P + Q = (3axoH peIeKCHBHOCTH) =

=A+P+Q

3ananue 4
A- (P - 6) = (ompenenacHe ONEPAIIUH UMILUTUKAIIIH) =
=A+ (P - 6) = (ompe/elIeHHE ONEePALHH UMIUTHKAHH) = A + (ﬁ + 5) =

= (3aKoH jBOiiHOTrO oTpHuaHmsi) = A + P + Q

3aganue 5

(P + 6) > A= (ompenenenue onepanuy MMILTAKAIIAN) =

= (P + 6) + A = (3axoH ge Moprana) = (ﬁ * 6) +A

= (3aKOH BOIHOrO oTpHuanus) = P * Q 4+ A
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3aganue 6

(P> A) (5 + A) = (ompenesaeHre ONePaIH UMILTHKAIIIHN) =

= (ﬁ + A) * (a + A) = (3aKOH AMCTPHOYTUBHOCTH) = A + P x a

3amanne 7/
A - (ﬁ * 6) = (ompeneseHne Onepauy UMILUTHKAIIUN) = A+ (ﬁ * a) =

= (3aKoH JABOMHOrO oTpullanus) = A + P % 6

3amanue 8

(ﬁ + A) * (Z - Q) = (ompeeieHre onepanui UMIUTUKALIAN) =
= (ﬁ + A) * (ﬁ + Q) = (3aKOH JBOMHOIO OTPHUIIAHKS) = (ﬁ + A) *x(A+Q) =

= (3axoH aucTpuOyTHBHOCTH) = A + P * (

3amanue 9

(P->A)+ (Z - 6) = (ompeeeHne ornepani UMIUTUKALIAN) =
= (ﬁ + A) + (i + 6) = (3aKOH JABOMHOIO OTPHUIAHHS) = (ﬁ + A) + (A + a) =

=P+A+A+ 6 = (3akoH pedaekcuBHoCcTH) = A + P+ 6

3ananue 10

(A*P) > (P = Q) = (ompeneneHue onepaiyiy UMILTUKALAH) =

— (ﬁ) + (F * Q) = (3akoH ge MopraHa) = (Z + %) + (ﬁ * Q) =
= (3aKoH JBO#HOTO oTpHuanua) = A+ P + P * Q =

= (3aKOH MOIIOIEeHHs ¢ OTpULAHHeM) = A + P + Q

3aganue 11
(ﬂ) + Q = (3axoH 1e Moprana) = (i + 5) +0 =

= (3aKoH JBOiHOrO oTpHianus) = A + P + Q



